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Fourfh Semester B.A./B.Sc. Degree Examination, March 2020
~ First Degfee Programme Under CBCSS |
LANGUAGE COURSE: READINGS IN LITERATURE

Common For._B..A.IB.Sc. EN 1411;1 (Language Cou'r'se_ ‘1

And Career Related 2(a) (Language Course VI) EN1411.3
| | (2015 Admission Oﬁwards) |
‘Time : 3Hours ) | o ' : - Max. Maﬂrks : 80
. Answer all qu.estions,_each in a word or a sentence.
1. Whyis the. boy ‘creeping like snail’ in ;AII the World is a Stage’_?_
.. What does the title ‘L.a Belle Dafn_e Sans Merci’ mean?

Why does Ulysses think of leaving his kingdom?

2
3
4. What has caused insensibility among soldiers?
5. Where is the essay 'Tolerance’ taken from? .~
6. What, according to Einstein, is the noblest motive for scientific research?
7

‘What was the pers:stent legend spun around Nehru's refation with the Pnnce of
Wales? . . .

8. What is\. U_mk'honto we sizwe?
9. What reason did Vera give for the sudden exit of Mr. Nuttle?

10. Why was the cat named Sherlock?
- | " (10 x 1 = 10 Marks)

P.T.O.




11,
12,
13,

14,
15.
16.
17.

18.

19.
20.
21.

22.

23.
24,
25.
26.

27.

Answer any eight questions in a short para.graph not exceeding 50 words

‘Shakespeare’s views on the stage of the soldiers. |

Resolution and perseverance of the leech gath.e_rer.

The employment of Greek myths on ‘A Prayer for My Daughter’.

‘The impact of the constable’s Visit_ on the narrator.

The difference in the attitude of the poet and his neighbour in ‘Mending Wall".

Social prescriptions on the use of language in ‘An Introduction’.

The idea of ‘cosmic religious feeling’ as enunciated by Einstein.

The two soiutions to deal with. people whom we 'di's!ike, as 'probosed by‘

E.M. Forster.

‘Two of the most persistent legends about Nehru.

The dilemma of Dr. Raman regarding the illness of Gopal.
The bet between the Banker and the yquhgman.

The reason fdr Chechi's dejection after receiving the c_ail from Jayant.

(8 x 2 = 16 Marks)

Answer any sik, eachin a paragraph not exceeding 100 words

The Knight's love for the beautiful lady.
The significance of Arnold’s statement- “Let us be true to one another”.
The implication of the dictum “good fences make good neighbours”™.

Tolerance as a practical replacement for love.

Einstein’s account of three types of religions.
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28.
29,
30.

31.

IV

32.

33.

34.

35.

Ploverty and 'miselry- of the Africans in South Afriéa.-
Longing as a theme in ‘Yellow is the. Colour of .Longing’-.
The ending of the story ‘The Open Window'.
Catas a pro_mineht character in ‘Sherlock’.
(6 x 4 = 24 Marks)
Answer any two in ébout 300. words |

Describe the seven stages in human life as portrayed in 'All the World is a
Stage'.

Comment on the atmosphere of oppression and fear in ‘A constable Calls’.
Explain J.B. Priestley's arguments favouring idling.
Evaluate R.K. Narayan's craftsmanship as evident in *The Doctor's Word'. N

(2 x 15 = 30 Marks)
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Fourth Semester B.A./B.Sc. Degree Examination; M
~ First Degree Programme under CBCSS

Malayalam Language

J-1017

arch 2020

Language Course — Additional'l__anguage v

ML 1411.1 — epunoaldlawe, MAQoEDE:R.21M, @00H10CIGENIOWO

(2018 admission)

Time : 3 Hours
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11.
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18..
19.'
20.
21.

22.

.
23,

24.

25.
26.

27,

28,
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" Amazon.com., is an American multinational technology company based

in Seattle that focuses on e-commerce, cloud computing, digital
streaming, and artificial intelligence. It is considered one of the Big
Four tech companies, along with Google, Apple, and Facebook.
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29.
30.

31.

32.
33.

34.

35.
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4 | Cg-1017



(Pageé _:'3) J—-1014

Fourth Semester B.A./B.Sc. Degree Examination, March 2020
First Degree Programme Under CBCSS
~ LANGUAGE COURSE: READINGS IN LITERATURE
Common For BI.A.IB.SC. EN 1411.1 (Language Course Vill) -
And Career Related 2(a) (Language Course Vi) EN1411.3
| - (2015 Admission Onwardé)

Time : 3 Hours i Max. Marks : 80

- Answer all questions, each in a word or a sentence.

Why is the boy ‘creeping like snail’ in ‘All the World is a Stage'?

What does the title ‘La Belle Dame Sans Merci’ mean?

Why does Ulysses think of leaving his kingdom?

What has caused insensibility among soldiers?

Where is the essay ‘Tolerance’ taken from? .

What, accordi'ng to Einstein, is fthe noblest motive for scientific research?

What was the persistent legend spun around Nehru’s relation with the Prince of
Wales?

What is Umkhonto we sizwe?

What reason did Vera give for the sudden exit of Mr. Nuttle?

" 10. Why was the cat named Sherlock?

(10 x 1 = 10 Marks)

PEO.



11.

12

13

14.

15}

16..

1T,

18.

19.

20.

2%

22

23.
24.
25.
26.

21

Answer any eight questions in a short paragraph not exceeding 50 words
Shakespeare’s views on the stage of the soldiers.

Resolution and perseverance of the leech gatherer.

The employment of Greek myths on ‘A Prayer for My Daughter'.

The impact of the constable’s visit on the narrator.

The difference in the attitude of the poet and his neighbour in ‘Mending Wall'.

Social prescriptions on the use of language in ‘An Introduction’.

The idea of ‘cosmic religious feeling’ as enunciated by Einstein.

The two solutions to deal with people whom we dislike, as proposed by

E.M. Forster.

Two of the most persistent legends about Nehru.

The dilemma of Dr. Raman regarding the iliness of Gopal.
The bet between the Banker and the youngman.

The reason for Chechi's dejection after receiving the call from Jayant.

(8 x 2 =16 Marks)

Answer any six, each in a paragraph not exceeding 100 words

The Knight's love for the beautiful lady.

The significance of Arnold’s statement- “Let us be true to lone another”.
The implication of the dictum “good fences make good neighbours”.
Tolerance as a practical replacement for love.

Einstein’s account of three types of religions.
: 2
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28.
29,
30.

Sk

32

38:
34.

35,

Poverty and misery of the Africans in South Africa.
Longing as a theme in “Yellow is the Colour of Longing'.
The ending of the story ‘The Open Window'.
Ca.t as a prominent character in ‘Sherlolck’.
(6 x 4 = 24 Marks)
Answer ahy two in about 300 words

Describe the seven stages in human life as portrayed in ‘All the World is a

- Stage’.

Comment on the atmosphere of oppression and fear in ‘A constable Calls’.
Explain J.B. Priestley’s arguments favouring idling.
Evaluate R.K. Narayan’s craftsmanship as evident in ‘The Doctor's Word'.

(2 x 15 = 30 Marks)
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Fourth Semester B.A./B.Sc. Degree Examination, March 2020
First Degree Programme Under CBCSS
Language Course (Additional Language IV) — Hindi

HN 1411.1 - DRAMA, TRANSLATION AND CORRESPONDENCE
(2017 Admission Onwards)
Time : 3 Hours ' Max. Marks : 80
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9.

10.

Tk

12
3.
14,
15.
16.
17.
18.
19.

20.

21

22

23.

24,
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25,
26.
27
28.
29.
30.

31.

32
33,
34.

83,
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Many of you will be known for your discoveries and inventions. But the University
has to train year after year such cards for building free India in which want,
squalor, ignorance and disease must be unknown. In-this great task of cadre-
making the teacher has a vital role to play, for teacher is the cornerstone of the
arch of education, he is no less, if not more than books and curriculum, building
and equipment, administration and the rest.

(sfe= wsg : University - fava faemem, Squalor - 37918, Ignorance - 3@H, Disease - s,
Cadre making - gari fmior, Arch - #gwa, Curriculum - aresism, Administration - semes)
: : (2 x 15 = 30 Marks)
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Fourth Semester B.Sc. Degree Examination, June 2020
First Degree Programme under CBCSS
% Mathematics
Complementary Cdurse for Statistics

MM 1431.4 : MATHEMATICS IV - LINEAR ALGEBRA
(2018 Admission)

Time : 3 Hours Max. Marks : 80
SECTION - |

All the first ten questions are compulsory. They carry 1 mark each.

o
1.  Find the norm of the vector | -2 |.
3
2 3
2. Check whether the vectors u=| 5 | and v=| 2 | are orthogonal.
-1 -3
1 0 1
3. Givenu={-3|,v=|5|, w=|-1|,find 2u-3v-w.
2 = R T

P.T.O.



10.

1.

12.

- Are the matrices A and B row equivalent?

1 -2 ~1 "3 0 1 -2 -130
A=|-2 -4 - & -5 3|,B=0 0 3 1 3i
3 -6 -6 8 2 =0 0.0 5

Find the inve_rse of A{B 6]

5 4
1 =2 9
Check whether the matrix | # —~7 3 | is singular.
<3 6 2A

Find the rank of the matrix SEe 0.
D0 =0

Define dilation from R? to R?.

What is the order of the matrix of the transformation 7: R’ — R*?

Write the standard matrix corresponding to the transformation of reflection
through the x, = —x,..

_ (10 x 1 = 10 Marks)
SECTION — |

Answer any eight questions from among the questions 11 to 22. They carry
2 marks each.

'Verify Cauchy Schwarz inequality for the vectors x=(1,1), y=(5,-1)

Is the third quadrant a vector subspace of R° ? Justify your. answer.

2 ' J - 3007




13.

14.

15.

16.

18.

19.

20.

21.

22.

1] [-2 (0
Check whether the vectors —3] 9 |, | 0] are linearly independent in R>.
0 J| 0] (O
Define dimension of a vector space.
2 -1 .
If A= -‘,showthat A? +2A-5/=0.
2 -4

o
Find the eigen values of the matrix { 73 1J.

3 =1
If 3 is an eigen value of |-1 5 1|, find all the eigen values of A~ without
11 -1 8

L .
using characteristic equation.

—
~ O W
O ~l N
- O ~

By reducing to echelon form, find the rank of the matrix {3
E

Check whether T : R*—>&R* given by T [(x,, X,)]=(x;-2x,, 0, 3x, - 2x,) is a
linear transformation. .

Find the standard matrix of the linear transformation 7 : R%*->R? which is
rotation through % radians.

' 2 4 4
Find the B—co-ordinate vector of x where {b,, b,}, b, =[J, bzz[ ) } X"{S]

Find a basis for the null space and column space of the matrix
-3 9 -2 -7
2 -6 4 .8
3 -9 -2 2
(8 x 2 = 16 Marks)

g o i J - 3007




23.

24.

25.

26.

27,

SECTION — il

Answer any six questions from among the questions 23 to 31. They carry
4 marks each.

Solve the system of equations by Cramer’s rule :
X+y-z=9

y+6z=-6
—-2X+4y -6z =4,

For what value of 4 and u do the system of equations :

X+2y+3z=6
x+3y+5z=9
2X+8y+Az=pu

has (a) no solution (b) unique solution (c) infinite solution.

J |

1M1 -4 -7
Find the eigen values and eigen vectorsof | 7 -2 -5
-6

10 -4
| 1] -5
Show that 3= {b,, b,, b;} form a basis of R> where b,= 1J, b,=| -1],
-2 2

[ 7
b, =l 0+
-5
Determine whether the transformation, T: R*-> R? given by
T % )=06 — 5% %5, X5—6X5) IS
(@) one-one
(b) onto.

4 ' J - 3007




28.

29.

30.

i

32.

' : 7 2
Diagonalize the matrix{ 4 J.

o 8=t ) i, 5 b s f 8 whor 0[] (7] 2]

6
(655 =[ 2}. Find the change of co-ordinate matrix from B to C and the change of

co-ordinate matrix from C to B.

Find the B-matrix of the transformation T : R*—R? given by T (x)=Ax, where

(3 4 2 1]
A:L_1 _J, b, { 1J Z_H B={b;, b,}.

1| 2 4
Prove that the vectors u= 2}, v=1|, w=|5| are linearly dependent and find
1]° - |4 6

the linear dependence relation between them.

(6 x 4 = 24 Marks)
SECTION -

Answer any two questions from among the questions 32 to 35. They carry
15 marks each. :

1 1
Find an orthonormal basis for the subspace spanned by the vectors |1, |-1],
1 0

0
1 | of R?, using Gram Schmidt process.
1

5 | J - 3007




33.

34.

35.

Classify the quadratic form 2x? +10x, x,+2x2 and make a change of variable
x=Py that transforms the quadratic form into one with no cross product term.
Write P and the new quadratic form.

[ 2=« -2 e
Diagonalize the matrix | 1 3 —1].
L—1 -2 2

5 . 4 -2 _ A
Define T: R%>—> R? given by T (x)=Ax where A{ - } Find a basis of 5 of

R?. with the property that [T] ;3 is diagonal

(2 x 15 = 30 Marks)

6 J - 3007
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Fourth Semester B.Sc. Degree Examination, March 2020

First Degree Programme und'er CBCSS
Complementary Course
PY 1431.3 — Modern Physics and Electronics
(For statistics)
- {2018 Admissién)-
Time : 3 Hours | . LRy ‘Max. Marks : 80
 SECTION-A

Answer all questions in one or two sentences; each question carries 1mark

1. What is the significance of Pauli's exclusion princi.pl.e?
2.  What afe the four different quantum numbers?_

3.  What are the properties of beta rays?

4, What is carbon dating?

5'. Give two properties of s‘uperconductors?

6.. What is the purpose of Eigen values?

7. Which semiconductor device acts as a rectifier? Why?

P.T.0.



8.

9,

10.

i

12.

13.

14.

15,

16.

A7

18.

19.

20.

21.

22.

What is a zener diode?
What do you meant by stabilization of operating point?
What is faithful amplifications?

(10 x 1 = 10 Marks)
SECTION -B

Answer any eight questions, not exceeding a paragraph. Each question carries

2 marks
What are the basic features of Bohr atom model?
Explain the L-S and j-j coupling schemes?
What is meant by secular equilibrium?
What are the features of nuclear forces?
Explain Meissner effect?
Write a note on high temperature ceramic superconductors?
What is the inadequacy of classical mech_anics?

What does quantum theory explains? Write down any one experimental evidence
for quantum theory?

Write any three postulates of quantum mechanics?
Draw the input and out characteristics of CE configurations?
Draw the V-| characteristics of zener diode and explain?

Why CE configuration is commonly used?

; (8 x 2= 16 Marks)

2 J-1231




23.

24.

25.

26.

27

28.

29.

30.

31.

32.

33.

Gl

SECTION - C
Answer any six questions; each questions carries 4 marks
Calculate the strength of the magnetic field required to give processional
frequency of 100MHz for O nucleus. Given g, =-0.757, iy =5.054x 107 JT-",/=5/2 .

What is the nuclear gy factor for the 19F nucleus which has a magnetic moment
of 2.6273 uN. Nuclear spin quantum number 1=1/2.

What are the frequency and wavelength of a photon whose energy equals the
rest energy of an electron? .

What is the de Broglie wavelength associated with an electron moving with a
velocity 1.5x10"m/s.

Find the binding energy per nucleus *° Ne,, Mass of proton = 1.007276u, mass of
neutron =1,008665u and mass of * Ne,, =19.987u, 1u = 931.49MeV .

In a common base connection, /. =1mA, I, = 0.95mA, Calculate the value of /,

The half-life period of radium in 1620 years. In how many years will one gram of
pure element lose 0.01gm?

A transistor uses potential divider method  of biasing.
R, =50Q, R, =10Qand R, =1kQ.Iif V. =12v,Find the value of IC. Given
V=0V,

The current gain of a transistor in CE configuration is 49.What will be the current

gain of same transistor in CB configurations?

(6 x 4 = 24 Marks)
- SECTION-D

Answer any two questions. each question carries 15 marks

State and explain the law of radioactive disintegration. Derive expressions for
half-life and mean life in terms of disintegration constant.

What is superconductivity? Distinguish between type-! and type-ll
superconductors? Mention the applications of superconductors

3 _ J-1231




34.

35.

Derive 'Schrodinger's time dependent wave equation. What is the significance of
wave functions?

With neat sketch explain the working of a Bridge rectifier. Derive an expression
for the efficiency of full wave rectifier?

(2 x 15 = 30 Marks)

4 J - 1231
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Fourth Semester B.Sc. Degree Examination, March 2020
First Degree Programme Under CBCSS -
Statistics
Core Course
ST 1441 - PROBABILITY AND DISTRIBUTION Ii
(2018 Admission)

Time : 3 Hours Max. Marks : 80

Instructions: Scientific Calculators and Mathematical/statistical tables are
permitted to use.
SECTION - A

(Answer all questions. Each question carries 1 mark)

i. Find mean and variance of a Bernoulli distribution with parameter p?
2. IfX~-B(10,04)find P(Y=3)where Y =10 - X

3. If X is a Poisson r.andom variable with P(X = 0) — e, find mean and variance of
the distribution.

4. Two percent of tools produced in a certain manufacturing process turn out to be
defective Using Poisson approximation, find the probability that in a sample of
200 units, exactly 2 units are defective. '

5. An unbiased coin is tossed until a head is obtained, If X is the number of tosses
required, find the probability mass function of X. '

6. Write down the probability mass function of a negative binomial distribution. .

P.T.O.



10.

15

12.

13.

14.

16.

A7

18.

19

If the moment generating function of X is 2 S o identify the distribution.

If X and Y are two independent standard normal random varlables what is the
distribution of 2)( +3Y7?

For a Uniform random variable over (-2,2) find P(x|> 1).

For a  Cauchy distribution with  probabilty density  function

f(x)=

- —» < X <find the distribution function.

1+ X

: (10 x 1 = 10 Marks)
SECTION - B

(Answer any eight questions. Each question carries 2 mark)

Suppose X is a discrete uniform random variable with values 1,2...n Find the
variance of the distribution.

Obtain moment generating function of a Binomial random variable with n=7 and
p = 0.4 and hence find its Cumulant generating function.

If X is a Poisson random variable such that P(X = )= 2 P(X = 2) find Mean and
Variance of X.

If X and Y are independent Poisson random variables with parameters 4, and 4,
respectively, find P(X=Y).

Find the mean of a geometric distribution with parameter p.
Define Multinomié] distribution.
Define bivariate normal distribution.

Find the characteristic function of an exponential random variable with
parameters @

Given that X is normally distributed with mean 10 and P(X > 12) = 0.1587 find its
standard deviation.
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- 20. Find the moment generating function of a standard normal random variable.

21. Write down the characteristic function of a standard Cauchy distribution and

hence find the distribution of 1Z;qwhere X, X,...X,are independent and
1-1 3

identically distributed standard Cauchy random variables.

22. Write down the probability density function of random variable that follows Beta
distribution of second kind. What is the transformation required in order to
transform a random variable of Beta distribution of second kind to Beta
distribution of first kind.

(8 x 2 = 16 Marks)
SECTION - C

(Answer any six questions. Each question carries 4 mark)

23. Obtain the moment generating' function of a Binomial random variable and using
this function derive the additive property of Binomial variables.

24. For a Poisson distribution with parameter A find the mode of the distribution.
When do you say the Poisson distribution is a bimodal distribution?

25. If X =P(A4)and X - P(4,)are two independent Poisson random variables then
show that the conditional distribution of X given X+Y is Binomial.

26. If XandY are two independent geometric random variables with same

probability of success P show that P(X =Y)= ?P—-

27. Define Hyper geometric distribution. Find the mean of the distribution.

28. For a Uniform random variable with probability density function

f(x)= ﬂz%,—o < x <0 derive coefficient of skewness and Kurtosis of the

distribution.

29. For a normal distribution with mean x and variance o find the Quartile
deviation.
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30.

31

32.

34.

35.

For a normal distribution 7% items are under 35 and 89% are under 63.Find the
mean and variance of the distribution.

Suppose (X. Y) = BN(y, 4,,0,°0,°, p) is a bivariate normal random vector, then
establish the condition p =0 for independence of X and Y.

(ii)

(iii)

(6 x 4 = 24 Marks)
SECTION-D

(Answer any two questions. Each question carries 15 mark)

The probability that a man hitting the target is 1/3.How many times must he
fire so that the probability of hitting the target at least once is more than
90%?

The probability of getting no misprint in a page of a book is €. What is the
probability that a page contains more than 2 misprints?

Let X and Y be two independent normal random variables with equal means
and standard deviations 2 and 3 respectively and let P(4X + 2Y<3) =
P(2X ~Y > - 4), determine the common mean of X and Y.

Derive the recurrence relation between central moments of a Normal distribution

~ with mean g and variance o’. Hence find coefficient of skewness and Kurtosis

of the distribution.

(i)
(i)

(i)
(ii)

if X is a gamma random variable with parameter («,/).find its moment
generating function and hence find mean of the distribution.

If X is a Beta distribution of first kind with parameters p and q find the mean
and Harmonic mean of X.

Define log normal distributiocn and find its r' moment.

Let X, —exp(0,),/ =12...n be n independent exponential random variables
then find distribution function of the random variable Y= min(X;,X;....X;).

(2 x 15 = 30 Marks)
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